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a—Fk fh Fik | PER (kg) &% (M) = i FE PE (BAL)
Y3002 =7 (&) 15 10, 384 1,404 270 270 | B 15kg
Y3011 HAFT (%) 7 2,322 378 378 216 | B kg
Y3100 &2 BHLAK (F) 5 1,231 324 162 162 | B 5kg
L 31200 (LI 5 2, 462 97 97 86 | BN 263K
39630 EHAA Y 5 1,010 59 59 59 | &M 173,
31900 X 4 1,733 648 378 216 | BA 4kg
34330 EART 40 7,515 43 39 32| BN 2004
34200 F/N 400 66, 852 194 167 151 | &M 400kg
34500 B —< 9 3, 067 432 324 216 | B 9kg
34520 |FRE—< 1 162 270 270 270 | B " 1kg
Y3033 | &AL 125 17,977 216 216 32| BN 125kg
134930 | LA v 15 3, 548 97 49 49 | BWN 514
34980 ~bE 4 842 65 65 65 | BN 13K
35940 AEETEA 60 34, 387 702 648 324 | B ‘60kg
31500 |/pAZE 2 432 43 43 43| BN 1048
34800 B 5 27 15,974 60 60 49 | BH 273% v k
36340 L NZREE 14 5, 875 540 540 54 | BN 14kg
37300 FEET 2 594 65 65 54 | BN 1048
37600 | H kDD 6 2,970 540 540 540 | BN 6kg
49430 ~ 1 = — 30 37, 098 486 432 378 | B 831H
49470 Ry arTIN—Y 1 756 76 76 76| BN 1018
71011 AT L—3 58, 730 65 49 43| BH 1, 1804
71032 Ko t&F (FF) 1, 296 43 43 43| BN 304
71150 LI 1, 080 76 76 321 &W 203
130100 VI A 82 10, 627 173 173 130 | FH 684
130300 AB L 100 12,636 1,296 1,242 1,242 |dk¥EE 10— A
30600 (MLAZ A 9 324 108 108 108 |#£8& 3 —2
31100 A% L 10 1,620 1,620 1,620 1,620 | R & 17—
33810 FAER 4 2,376 119 119 119 | BB 2043
31700 | ¥ XY 50 6, 264 1,296 1,296 1,188 |HESE 54— A
31800 HEHNAE 4 810 43 43 38 ERE 2048
31950 MR L 15 3, 456 1,296 1, 080 1, 080 | Ak 3r—2
- 31900 ¥ 5 5, 940 648 648 540 | BEIR & 1038 (500g)
31930  Zh¥E 6 5, 184 86 86 86 | &[] 6048
32800 125 5 389 11 11 3| B 503
34300 729" 14 1,944 54 54 32 |RER 4588
34300 | 729 2L 10 6, 480 3, 240 3,240 3,240 [REA 24— A
34400 | k= b B S 24 16, 848 3, 024 3, 024 2, 376 | K4y 647 — A
34460 I=tF L R’ 2 1,841 167 167 167 | K4y 118y 7
34100 HAK 65 17,075 1,404 1,404 1,188 |G 134 — A
34100 #/K 2L | 15 4,212 1, 404 1, 404 1, 404 | = IR 37— R
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- o Roc it &H
a—F 4 Bk | Bk (kg) &% (M) =il i ZeE | E (BAL)
34520 RE—< B 5 1,188 1,188 1,188 1,188 | K%y 17 —=
34571 STV S (R) 1 529 76 76 e
34572 AT U A (F) 1 529 76 76 OE A2 e
36200 FHENE 3L 20 3,024 1,728 1,728 1,296 | E & 24— R
36600 7-EFhE LK 20 3, 348 3, 348 3,348 3, 348 | JtifmiE 17r—=
Y3027 §I/~y Ri-gEhg 5 1,080 216 216 216 ;r;—x K5 5% b
33400 L& R 2L 12 3,110 140 140 119 | B8 24(A
33600 St 1 2,916 972 972 972 |1&E RES
38100 ALV i 5 3, 024 59 59 54 | B IR 52/%y 7
31310 | AT 1,728 86 86 86 | 1& 2048
31500 /MAZE 16 8, 640 108 108 108 |2 B 804%
32500 AT 2 702 54 32 22 |f& 203K
37560 BT 1 983 119 86 86 | K4y 108y 7
30910 SF 4 va 0 22 5 5 5 B 44%
Y4008 /N7 RBH A S 25 9, 288 1,944 1,944 1,728 |8 57— A
39350 | NFY M 8 432 108 108 108 | K4y 4 —
Y4005 (ALY 15 8, 424 8, 424 8, 424 8,424| T AU H 1/ —X
Y4016 'H 005 20 5,724 4, 860 3,024 2,700 | BB 24—
Y4019 = a2 —~Y—A 4 2,873 1,436 1,436 1,436 | B 24— &
44000 H % 10 4,320 2,160 2, 160 2,160 | E B 24— R
Y4010 /NEF VD 81 8, 942 324 324 130 |EEIR S 38{&
49100 NFF 120 10, 476 1,728 756 756 |7 4 UL 10— R
| 49200 (A T v TN 10 3, 240 3, 240 3, 240 3,240 74 VY 17 —2R
44400 (k7 &Y v 6 1,987 194 194 11| E% 123y 7
Y5006 | F5H (B4%) 80 23,846|  3,154| 3,002 2,804 FERB 8 — %
Y5006 | EIR (&5 70 18, 727 193 193 163 | EEVT B 1008y 7
Bt 1,739 505, 425




